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-XGXO 7XJDV $NKLU � 3HUVHSVL 3HODQJJDQ 7HUKDGDS &LWUD
3HUXVDKDDQ�'DHUDK�$LU�0LQXP��3'$0��
.RWD�3DGDQJ

3HPELPELQJ � $EURU��6(��0(� 3K�'

7XMXDQ�SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQJHWDKXL�PHQJHWDKXL�SHUVHSVL�SHODQJJDQ�
WHUKDGDS� FLWUD� 3'$0� .RWD� 3DGDQJ� GDQ� XQWXN� PHQJHWDKXL� XSD\D� \DQJ� GDSDW�
GLODNXNDQ�XQWXN�PHQLQJNDWNDQ�FLWUD SHUXVDKDDQ�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� GHVNULSWLI�� 3HQHOLWLDQ� LQL� GLODNXNDQ� GL�
3HUXVDKDDQ� 'DHUDK� $LU� 0LQXP� �3'$0�� .RWD� 3DGDQJ�� $GDSXQ� \DQJ� PHQMDGL�
SRSXODVL�GDODP�SHQHOLWLDQ�LQL�DGDODK�VHOXUXK�SHODQJJDQ�3'$0�.RWD�3DGDQJ��7HNQLN�
SHQJDPELODQ�VDPSHO�PHQJJXQDNDQ�UXPXV�VORYLQ�VHKLQJJD�GLGDSDWNDQ�MXPODK�VDPSHO�
SHQHOLWLDQ� DGDODK� VHEDQ\DN� ���� RUDQJ� SHODQJJDQ� 3'$0� GL� .RWD� 3DGDQJ�� 7HNQLN�
SHQJXPSXODQ� GDWD� PHQJJXQDNDQ� NXHVLRQHU�� ZDZDQFDUD� GDQ� VWXGL� NHSXVWDNDDQ��
7HNQLN� DQDOLVLV� GDWD� PHQJJXQDNDQ� PHWRGH� GHVNULSWLI� GHQJDQ� PHQJKLWXQJ� 7LQJNDW�
&DSDLDQ�5HVSRQGHQ �7&5��

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� EDKZD� SHUVHSVL� SHODQJJDQ� WHUKDGDS� FLWUD�
3'$0� .RWD� 3DGDQJ� WHUPDVXN� NDWHJRUL� EDLN�� 8SD\D� \DQJ� GLODNXNDQ� XQWXN�
SHQLQJNDWDQ� FLWUD� 3'$0� DGDODK� PHPSHUFHSDW� SHQDQJDQDQ� NHOXKDQ� SHODQJJDQ� GDQ�
PHPEHULNDQ� NHPXGDKDQ� GDODP� DNVHV� SHQJDGXDQ� SHODQJJDQ� PDXSXQ� NHPXGDKDQ�
GDODP�SHPED\DUDQ WDJLKDQ�

.DWD�NXQFL��&LWUD�3HUXVDKDDQ
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